[image: image1.wmf](

)

dx

6

x

3

x

2

5

ò

+

+

[image: image5.wmf]4

5

x

3

x

y

+

=



[image: image6.emf]1


 


2


 


–


1


 


–


2


 


–


3


 


y


x


1


 


1


 


2


 


2


 


3


 


3


 


4


 


4


 


1


 


1


 


2


 


2


 


–


1


 


–


1


 


–


2


 


–


2


 


–


3


 


–


3


 




1 2 –1 –2 –3 y

x

1 1 

2 2 

3 3 

4 4 

1 1 

2 2 

–1 – 1 

–2 – 2 

–3 – 3 


 1) Differentiate 

2) 
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3) 
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 The curve passes through the point (2,8)

Find the equation for the curve

4) 
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A jail cell window has 4 steel bars,
3 vertical and 1 horizontal
A jailer has 4 metres of steel bar.
What is the maximum window area possible?
1) Form an equation for window area
2) Differentiate, make derivative = 0 for minimum & maximum
3) Find dimensions of maximum window 
4) Find maximum window dimensions

The low ability little pig decides to build a two-dimensional house of string. He has 18metres of string.






Find the maximum area of the house







Hints:






Length of curved part (semicircle)






Rule for height 







Rule for area







Differentiate, =0 at min/max and solve
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Maximum & Minimum Applications A

















Maximum & Minimum (extension)
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